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SPEED. OF LIGET DECAY (CDK) MATGHES ERROR IN, PREDICT-

“ING ADVANCE OF PERTHELION OF MERCURY.  21/09/10 &
- ©
@)

WEAT IS A PERTHELION? S
Perihelion means Clesest approach to the Q.
All plamets, in their orbits, have the sun ST
OFF CENTRE, more or less. They thus pove ay from .
the sum, and move eloser te the sum, in é@eir orbits.

Ia the ease of Mereury, the elose §proaeh- to the

sun is much more evident than in the,o ther plapets.

See diagram below. &
X

perihelion ad%ége es
gradually.



.Page two
You will see in the diagram that the perlhelzr,@
tends to advanee a little with each orbit of N@g@ury
This ADVANCE OF THE PERTHELION is quite n@ and
expeeted., What with Mereury-being so cl te us,
and the perihelien of Mereury bBeing so v* evident,
the advance of the peribelion ean be mégsured in

mcr@scopz.e detail. | @

WHAT ERROR 1S FOUNP IN THE ADVAECR\)F THE PERTHELION?.

The motions of the plamets, ozludlng the advanece
of the perihelion, ean be ea}gﬁtaﬁed and predicted by
ordinary Newlornian laws @fﬁtmng But in his book
The Birth of a Hew ;Phyal Dr. 1. Bernard Cohen

says.... \@

There is ORE ex%prle of a failure of Newtonian
physies: a very sn@. error im predieting the adv-
ance of the ;pem@’_uon of Merecury - 40" (40 seccends
of are) per ealuryl - for which we meed to invoke

Relativity {Qsory.! (Bmphasis . and brackets mine.)
&@

WHAT DOES 'RELATIVITY' DO?

The 40 seeonds of are érr@r"‘per eémtury shows
up in observatioms as a time error. _

'Relativity! is sald to distort j:_;'L_ritg by means
of GRAVITY. Im supermatural fashion, TIME is supp—~
osed to SLOW DOWN in gravity fields. The STRONGER
the GRAVITY, the SLOWER the TIME.
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It is reasened I'tha.'b sinee MERCURY is CLOSEST I@
THE SUN of iall plauets, and is swbjeet to THE %{
GRAVITY, o TIME ERROR in predicting p.erihelioaét-
varnce will e eaused oy 'relativity' time ee'bs..

T
IS "RELATIVITY! A PROVEN FACT? &
No. Time distortion By 'relati }' fails the
reality cheek experiment outlined ?;@ages 6 and 7
of CPK-4 (Some CGaleulations of t-e\:geed and Deeel-
eratiorn of Light. See weksite @’ .

Sinee 'relativity! is NOSZ » 1t cammot be
O\ - o
eausing error in perihelic@éobsemationsu
®

IF NOT 'RELATTVITY® GNG EBROR, THEN WHAT? .

It is muech more-Ukely that the TIME error in
predieting the adyadice of the perikelion of Mere-
ury is due to s%ring light speed, and a compound-
ing errer in ervations of the perihelion advance,

Q
O

This is like the Pioneer anomaly, which can Be

explained by slowing light speed.

See; The Pieneer Amomaly: Probe Travel 'Defieit!
of 240,000 Miles Matehes Travel Deficit of Slowing
10-Heur Radio Signal. CDK-6 1/06/2008
Website or e/ o University of Avekland,-
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HOW JUCH TIMR BRROR IS TNVOLVED?
Tn other words, how »mch time does it take fo§@
Mereury to travel thromgh 40" of are? >
To eut a long story short, Mereury A
234.72 seeonds of time to travel 40" of = e.
" But note that Mereury TRAVELS FASTER AVERAGE
through 40" of angle WHEN AT PERTHELIQX,
Cloger to the sun meams faster or‘hi\@%@eei.
| Q& i
The tiwme taken for 40" are s@%vel at periheliom
is only seome 200 seeonfis. Tb@:;\&? isg ver'y important.

R\
WHAT IS THE ACCUMBLATED ‘@n ERROR FROM SLOWING
LICGHT SPEEB? . Q\@

Around 200,secog@ per eenturyll MNerecuxry is,

on average, roughl§ the Barth's orbital radius
awey from the E@ﬁ. See diagram,
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The ehange in fime, over 100 years, for 1ig

to reach the Earth from the gunm, is 4.045 sees,

So a gimilar iime delay should apply fomPkser—
vations of evemts on Mereury. They are nelayed
by 4 seeconds per year compared to a eent®y ago.

So that the AVERAGE delay over th§$
has ‘c«een around 2 seconds per yea,r.

If th:r.s delay is allowed to A&R%TE for 100

years, the result is 200 secon &Q oxrth of ERROR..

<
:ﬁ”\\y
CORCLUSIONS. ®
Well folks there it @@. One hundred years of

aecummlated error in no#allowzng for slowing light

t ecenmbtury

speed nieely matches %e error in predieting the
advanece of the per@llon of Mercury.
& |
IS SLOWING LIG SPEED THE CAUSE OF THE ERROR?. .
Tt 1001{5&1:(31)’. Relativity fails the reality
test. Sp@g' of light deeay equatlens are a practieal

tool for astremomieal observat:r_ons. Inereasing
-éelay in light reaching the Barth must e taken into

geeount.
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BDITOR'S COVMENTS.

&

Niee to he reporting again for the lello teawm @
Toky, Sparrow, Bill and Mrs H. D
And from the team and me, Cheer:r.o. until @gt
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END NOTES, &
CALCULATION: OF LIGH ®Ems AND TIME DELAY....

You ean ealc—:ulat%@ﬁhese yourself! See GDK—4, '
Seme Caleulations @%the Speed and Deeeleration of
Light, to ealeulé the slowing light speeds given
“Below,. @

Q

Farth's arlg’\{@ average 149.5978 x 107 m
Speed of light, 2006 298.31797 x 10° n/s
Speed of light, 1906 306.7437t1 x 10° n/s

Light travel time from sum, 2006 501.4709 seconds
Light travel time from sunm, 1906 497.4261 seconds
YEART,Y TTME DELAY after 100 yrs 4.0448 seconds
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MERCURY FACTS AND FIGURES.

§
- | 9 &
Orbit radiug, average TS x 107 m é@
Bceewtrieity, e +2056. ©Q
Orbit time 241 yeap
.“ A ‘Z
Humber of seconds im one year 3+15576
Seecomds of ave im 360° orbit 1,29.6,@ NIl
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